' L

. Which of the tollowing is in the Normative Case —
X=-Kabir, the great reformer, was a weaver.
i;. Yestenday I met your uncle, the doctor.
C. Have you seen Ganguli, the artist’s drawing?
D. Both A and B,

o o
. I -”dl- Qu&"‘ coNLRAA
¥ expresses the same meaning as the word “Onus s

2. Select the word that most closel
A. Burden. burden
B. Grace,

C. Dignity.
D. Bias.

-~

3. An admission of guilt in exchange for a specific sentence is:
~A—a plea bargain.

v B. ahung jury.

C. ano lo contendere.

D. ipso facto.

4. The most correct sentence is:
A. While there is a life there is a hope.
Sun rises in the east.
C. Her knowledge of medicine had been acquired under an aged Jewess.
" D. The brave soldier lost arm in the battle.

5. Choose the word that best completes the given sentence: The Jjudge gave the jury instructions
in manner because their comprehension was critical to the case.
~A«—Deliberate.
B. Feeble.
C. Callous.
D. Monotonous.

6. The Committee which presented its report on Socio Economic and Caste Census (SECC) data on
January 13, 2017 was headed by -
A. Amritya Sen.
B. Dr. Manmohan Singh,

C—Shri Sumit Bose.

D. None of the above.

(7_Eour double tons by Virat Kohli adds him to the list of —
A. Don Bradman, Michael Clarke. and Graeme Smith,
JemBradman, Brian Lara, and Graeme Smith.

C. Don Bradman, Michael Clarke, and Rahul Dravid,

D. Brian Lara, Michael Clarke, and Graeme Smith,

8. Which of the following has been conferred with the 2016 Bhartiya JInapith Navlekhan Award
A. Sharadha. ;
B. Ghanshyam Devansh.
-€- Both A and B.
D. None of the above,

SET
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9. Who wins the Baftas 2017 Best Supporting Actor award
A. John Michael.
-B. Dev Patel.

C. Irfan Khan. ‘e
D. None of the above.

10. It is alleged Donald Trump became the US president by hook and crook with the involvement of the

following country.
A. Russia.
B. Taiwan.

C. Japan.
D. South Korea.

I'. Which Technology Giant launched its full-scale Cyber Security Engagement Centre (CSEC) in India
-A_Microsoft.
B. SAP.
C. Google.
D. Accenture.

12. An Informal Gathering occurs when a groupof people get together in a casual, relaxed manner.
Which situation below is the best example of an Informal Gathering?
A. The book club meets on the first Thursday evening of every month.
B. After finding out about his promotion, Jeremy and a few coworkers decide to go out for a quick
drink after work.
~E—Mary sends out 25 invitations for the bridal shower she is giving for her sister.
D. Whenever she eats at the Mexican restaurant, Clara seems to run into Peter

13. Directions to Solve
The given question presents a situation and asks you to make a Jjudgment regarding that particular
circumstance. Choose an answer based on given information.
Eileen is planning a special birthday dinner for her husband's 35th birthday. She wants the evening
to be memorable, but her husband is q simple man who would rather be in Jeans at a baseball game
. than in a suit at a fancy restaurant. Which restaurant below should E ileen choose?
A. Alfredo's offers fine Italian cuisine and an elegant Tuscan decor. Patrons will feel as though
they've spent the evening in a luxurious Italian villa.
B. Pancho's Mexican Buffet is an all-you-can-eat family style smorgasbord with the best tacos in
town.
C. The Parisian Bistro is a four-star French restaurant where guests are treated like royalty. Chef
Dilbert Olay is famous for his beef bourguignon.
. Marty's serves delicious, hearty meals in a charming setting reminiscent of a baseball clubhouse in
honor of the owner, Marty Lester, a former major league baseball all-star,

14. Principle: Willful rash driving is an offense.
Facts: Mr. Tiwari was driving his car after drinking alcohol. Police books him for willful negligent
driving, Is the act of the police lawful?
A. No, because Mr. Tiwari was not driving rashly; he was drunk while driving.
B. No, this is not a negligent act.
L£—Yes, because Mr. Tiwari was driving rashly.
D. Yes, because the police have the power 1o arrest a person driving rashly.

B26 CET M
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15. What is an ECO-MARK?
_A. A scheme for labelling Environment F riendly Consumer Product.
B. A Scheme for labelling pollution free industrial Unit.
C. A Cost-gffective Production Technique. .
D. An International Certification recognizing Eco Friendly building.

16. Consider the following statements:
L In a recent Supreme Court verdict pronounced by Justice Markandeya Katju and Justice Gyan Sudha
Mishra, the court upheld the constitutionality of the Haj subsidy. .
II. Muslims are not the only beneficiaries of the secular state’s generosity. Hindus have also received
substantial financial support from the Government.

With reference to the statements mentioned above, which of the following is correct?
A. Ionly.

B. II only.
A&—Both I and II.
D. Neither I nor II.

17. “An eye for an eye and a tooth for a tooth” relates to ................ theory
A. Reformative.

B. Deterrent.
@Retributive.
D. Preventive.

18. Consider the following statement and arguments:
Statement: Should there be a world government?
Arguments: ;
L. Yes. It will help in eliminating tensions among the nations.
IL. No. This is administratively impossible.
With reference to the statement and arguments mentioned above, which of the following is correct?
A. Only argument I is strong.
B. Only argument II is strong.
~Ae—Either I or II is strong.
D. Neither I nor II is strong.

\_(%blind student is appearing in the Law Entrance Test. He must be provided with a
riter.
B. Reader.
C. Writer and reader.

L\%None of the above.

20. Night blindness is caused by the deficiency of
“A~ Vitamin A.
B. Vitamin B.
C. Vitamin C.
D. Vitamin D.

21. Which country gifted the Statue of Liberty to the United States of America?
A. England.
B. Australia.
C. haly.
D. France.
N——"
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22. Which one of the following began with the Dandi March?

A. Home rule Movement.

B. Non-Cooperation Movement.
—€. Civil Disobedience Movement.

D. Quit India Movement.

23. Russian revolutionary, who founded the Communist P
A~ Karl Marx.
B. Stalin.
C. Lenin.
D. Trotsky.

24. The
Pakistan.
A. Anamalaj. >
B. Siliguri.
C. Jhansi.
D. None of Above, @

25. Who wrote the book “We the People™
A. T.N. Kaul.
B. JRD Tata.
C. Khushwant Singh. ~ P
. Nani Palkhivala.

26. Nand Lal Bose. Manijit Bawa, Tyeb Mehta are
A. Classical Singers.
B. English Poets.
C. Photographers.
L. Painters.

27. Which theory is generally included under micro economics?

A. Price Theory.
B. Income Theory.
C. Employment Theory.

<D(-None of the above.

28. The average of the first five multiples of 9 is:
A. 20.
B8-27.
C. 28.
D. 30.

29.Which is the smallest fraction among the following?
A. 7/9.
B. 4/5.
C. 6/7.
D. 9/13.

B26 é SET C
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30.n:lt;n (;e'lr?? is subtracted trom the square of a number,
A. 36.
B. 42.
C. 37.
D. 39
—
. OW ] 1
31. Hov , many terms are there in 20, 25, 30......... 140

25. W, w80,

the answer so obtained is 1232. What is the

-

ot

-
‘!,_

24 7{)-}(n~l)$’;l‘[0
N o ’)OH’n—s‘:'u,o
hich r.el}glon of world provides remedy for the offence it declares?
A. Christianity.
B. Judaism. I$4n =)Yo
C. Hindu
. S =
D. Islam. Ehlid

ook

z

32.

n=2¢—
33. Who was the composer of the classical composition ‘Moonlight Sonata’?
A. Ludwig Van Beethoven.
B. Antonio Lucio Vivali.

C. Arcangelo Corelli.
D. George Handel.

34. From which year Jaipur Literature Festival started
A. 2002.
B- 2005.
C. 2006.
D. 2008.

K 5 PP is the oldest oil field in India.
A Digboi in Assam.
B. Bombay High.
C. Mangala Area.
D. None of Above.

36. In which year American Revolution started? 1335-13R%

A 1774
B. 1775.
C. 1776.
D. 1777.

37. The Sarvodaya Movement was initiated by
. Mahatma Gandhi.
B. J P Narayan.
- Vinoba Bhave.

b<)' Bhagat Singh.
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r’?&‘Antibodies are found in
~A— Platelets.
B. RBC.
C. Lymphocytes. .
D. Eosinophils.

-2-2¢ ]
39. Which one among the following countries is not a member of SAARC? (g e
~A. Afghanistan,

B. Bangladesh.
=C. Maldives.

Wman

40. Consider the followin
Statement: Should sch
Arguments:

L. Yes. This is the only way to improve the literacy rate in India. 1
I1. No. It would add the already heavy burden on the exchequer.

With reference to the statement and arguments mentioned above, which of the following is correct?
A. Only argument I is strong.

AB. Only argument I1 is strong.
C. EitherIorlIlis strong.
D. Neither I nor II is strong.

g statement and arguments:
ool education be made free in India?

41. Consider the following statement and arguments:

Statement: Should education be made compulsory for all children up to the age of 14?
Arguments:

I. Yes. This will help to eradicate the system of forced employment of children.
I Yes. This would increase the standard of living.
With reference to the statement and arg
A. Only argument I is strong.
B. Only argument II is strong.
4 Either I or II is strong.
D. Neither I nor II is strong.

uments mentioned above, which of the following is correct?

42. 35™ Law Commission report reccommended that children below.......... years of age at the time of
commission of offence shall not be sentenced to death. : :
18.
B. 16.
C. 20.
D. 21.

43. Identify the correct statement: '
A. Federalism implies a system of government which embodies a
central and a number of regional authorities. i
\B_Federalism implies a system of government which embodies
Legislature, Executive and Judicigry.

C. Federalism implies a system of Government which embod
D. None of these.

division of powers between a
a division of powers between

ies Parliamentary supremacy. |
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44. Who finally approves the draft five-year plans?
A. Prime Minister. ,
“B—Planning Commission.
C. President.
D. National Development Council.

45. Principle: Only Parliament or State Le
law made by the State can take awa
Facts: Parliament enacted a law,

gislatures have the authority to enact laws on their own. No
Yy a person’s fundamental right.
_ which according to a group of lawyers is violating the fundamental
rights of tra'ders. A group of lawyers files a writ petition challenging the Constitutional validity of the
statute seek;ng relief to quashthe statute and further direct Parliament to enact a new law.
- INo writ would lie against Parliament, as the court has no authority to direct Parliament to enact or
re-enact a law.

s _B~—The court can quash existing law if it violates fundamental rights and can direct Parliament to
make a new law.

£ wa C. The court can quash the existing law if it violates fundamental rights but cannot direct Parliament
>4 to make a new law.
D. None of the above.

46. Directions to Solve
In the series given here, you will be looking at both the letter pattern. Fill the blank in the series.
SCD, TERUGH)'Y [, WKL
A. CMN.
B. UJL
J V1.
D. UT.

47. Choose the pair that best represents a similar relationship to the one expressed in the original pair of
words JAUNDICE : LIVER
~—A_Rash : Skin.

2 B. Dialysis: Kidney.
‘C. Smog : Lung.
><D. Valentine : Heart. ;
48. Jamia Millia Islamia (a Central University by an Act of Parliament) introduced two courses, B. A.
LL.B. (Hons.) Self-Finance, and LL. M. (Executive) Self-Finance, in its Faculty of Law respectively

in the years

A. 2011 and 2012.
B. 2012 and 2013.
C. 2014 and 2015.
D. 2016 and 2017.

49. Who is crowned as Miss Universe 20172 2nd Runees — Andre oy Tova (C.olumHn)
A. Andrea Tovar. - st ow — Raqxu./l. Pe-liskies ( HQL(_‘

B. Raquel Pelissier.
‘€. Iris Mittenaere.
D. Roshmitha Harimurthy.

B26 SETC 2017
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50. Who is 9th UN Secretary General
A. Banki Moon.

—~—B-Antonio Guterres. _
C. Koufi, Annan. -
D. Boutros Boutros Ghali.

51.For the first time, the Supreme Court has initiated suo moru contempt proceedings against a judge
from -
A. Allahabad High Court.
«B. Calcutta High Court.
C. Delhi High Court.
D. Patna High Court.

52. Which country has topped the list to be named as the FIFA’s Team of the year 2016?
A. Germany.

B. Brazil. '

—CArgentina. i

D. India. ]

53. In which year, International Conference of Disability Communication (ICDC) was held —
A. 2000.
—B—2017.
C. 2015.
D. 2016.

54. Which of the following sentences can express the idea: The bag is too heavy for her to carry.
A. The bag is very heavy for her to carry.
B. The bag is so heavy for her to carry.
C__The bag is too heavy that she cannot carry.
D. None of the above.

55. Positive degree of an adjective requires a mere existence only of —
~A. Two things.
B. More than two things.
C. One thing.

v\D/Either of A or C.

56. Choose the word or phrase from the alternatives that best conveys the meaning of the idiomatic
expression “Playing the devil’s advocate”.
A+ Consorting with the enemy.
B. Twisting the truth.
C. Putting forth counter-arguments.
D. Enacting satanic rituals.

57. Select the word that most closely expresses the same meaning as the word “Labyrinth”
A. Flower.
B. Building.
C. Maze.
D. Overwhelming.
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58. Plural of cloth is —
A. Cloths.
~B—<C€lothes.
C. Both. -
D. None.
59. Something that adds to the meaning of the noun is called —
A. Adjective.
B. Adverb.
L Preposition. KQ\V, v oA g/ b
D. None of the above. 7
——99—Choose the word that best completes the sentence ‘The - judge gave the jury instructions in a
manner because their comprehension was critical to the case’.

(A. Deliberate.
B. Feeble.
C. Callous.

),Monotonous.

61. Select the word that most closely has the opposite meaning of the word “Felonious”
A. Angelic.
B. Cat-like.
C. Satanic.
D. Criminal.

62.0ffenders who repeatedly commit the same crimes are involved in:
kaestimtion.
B. Res ipsa loquitur.

C. Reciprocity.
iD/aecidivism.

63. Choose the correct direct speech for the sentence: The actor said that he had not been on contesting
elections. ,
A. The actor felt, “I am not been contesting in the elections.”
B—The actor said, “I was not been contesting in the elections.”
C. The actor told, “I was not been contesting in the elections.”
D. The actor said, “I have not been contesting in the elections.”

64. First Smart Police Station in India was inaugurated in the State of —
A. Bihar.
B. West Bengal.
C. Andhra Pradesh.
D. Goa.

65. Which country has become the first in the world to officially authorise the use of “three-parent baby™
fertility treatments on December 1, 2016 to enable women with mitochondrial disease to have a
healthy child?

A. Mexico.
in.

C. USA.

D. Russia.

B26 SETC 7 2017
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66. Which among the following sports has been derecognized as a sport by the Center due to its wide
dimension, making it difficult to conduct competitions?
A. Cheerleading.
B. Aerobics.
L—Yoga.
D. Gymnastic.

67. World heaviest woman, Eman Ahmad, who lands in Mumbai for operation is from
A. Egypt.
B. Syria.
~£=~ Yemen.
D. Afghanistan.

68. Who is the winner of 2017 Qatar Open title
A. Rafael Nadal.
B. Roger Federer.
C. Andy Murray.
—D. Novak Djokovic.

69. Supreme Court passed an order against a state to pay Rs. 500 crore as compensation to 5,000 crore
victims of Endosulfan poisoning on
N<TFanuary 10, 2017.
~B- February 10, 2017.
C. February 10, 2016. i
D. None of the above.

70. Look at this series: 80, 10, 70, 15, 60, ... What number should come next?
A 20.
B. 25.
. C. 30.
D. 50.

71. Posthumous Publication occurs when a book is published after the author's death. Which situation
below is the best example of Posthumous Publication? '
A. Richard's illness took his life before he was able to enjoy the amazing early reviews of his novel.
B. Melissa's publisher cancels her book contract after she fails to deliver the manuscript on time.
C. Clarence never thought he'd live to see the third book in his trilogy published.
D._Elizabeth is honored with a prestigious literary award for her writing career and her daughter
accepts the award on behalf of her deceased mother.
—
72. What is procedural ultra vires?
. ‘_,‘_\,W.here a person or body, provided with specific authority, follows the procedure established for
using that power. .
B. Where a person or body, provided with specific authority, tries to follow the procedure established
for using that power,
C. Wherg a person or body, provided with specific authority, manages to follow the procedure
established for using that power.

D. Wherc? a person or body, provided with specific authority, fails to follow the procedure established
for using that power :

B26 | 2017
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73. Principle: Any direct physical interference with goods in somebody’s possession without lawful
justification is called trespass of goods.

Facts: 7 purchased a car from a person who had no title to it and sent it to a garage for repair. X

believing wrpngly that the car was his, removed it from the garage.
_yﬁiﬁg{ be held responsible for trespass of goods as he was under a wrong belief.

B. X can be held responsible for trespass of goods.
C. X has not committed any wrong.
D. None of the above.

74. On the basis of the following assertion and reason, mark the correct statements ‘
Assertion (A): All minorities, whether based on religion or language, shall have the right to establis
and administer educational institutions of their choice.

Reason (R): Institutions established by the minorities are not entitled to governmental aid and
government is not under an obligation to give aid.
A. Both A and R are individually true and R is the correct explanation of A.

B. Both A and R are individually true but R is not the correct explanation of A.
~f—Kis true but R is false.

D. A is false but R is true.

75. According to Hindu legal theory the origin of law is
A. Sruthi.
—B. Devine.
C. Dharma.
D. None.

......

76. Which of the following replaces the question mark (?) in the given picture
N

A—60. ¢ 7
B. 144. 9t ' 3 §°
C. 169.
D. 25. I

77. Consider the following statement and arguments: ' :
Statement: Should persons convicted of criminal offences in the past be allowed to contest elections in
India? : .

Arguments:

1. No. Such persons cannot serve the cause of the people and country.

1. Yes. It is democracy - let people decide whom to vote.

With reference to the statement and arguments mentioned above, which of the following is correct?
A. Only argument I is strong.

~BOnly argument II is strong.

C. Either I or Il is strong.
D. Neither I nor II is strong.

78. On the surface of the moon, the:

A. Mass and weight become lesser.

B. Mass remains constant and only weight is lesser.
~—E=Only mass is lesser.

D. Mass and weight both remain unchanged.

B26 : SETC 2017
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79. Diabetes is caused by the malfunctioning of
A. Liver.
B Pancreas.
C. Kidney.
D. Lungs.

¢
80. Which Veda is important for Indian Music?
. Sama Veda.
B. Yajur Veda.
C. Atharva Veda.
D. Rig Veda.

81. Which is considered as oldest civilization of the world?
A. Mesopotamian Civilization.
B. Egyptian Civilization.
—E—Harappan Civilization.
D. Chinese Civilization.

82. Which of the following countries share longest land boundary with India?

~A—Bangladesh.
B. Nepal.

C. Bhutan.

D. None of Above.

Wﬁs‘findigenous feature film in India?

- A. Pundalik.
B. Alam Ara.
C. Sant Tukaram.

~—D—Raja Harishchandra.

84. Which of the following is a ‘classical’ dance form?
A. Kalaripayattu.

8\5.}:0 bujlt the first motion picture camera?
A. i

B. George Eastman.
C. W.K. L. Dickson.
D. The Lumiere brothers.

86. Three numbers are in ratio 1:2:3 and HCF is 12. The numbers are:
A12, 24, 36.
B. 11,22, 33.
C. 12,24, 32.

D. §5,10,15. %Q
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¢7. Interest obtained on a sum of Rs. 5000 for 3 years is Rs. 1500. Find the rate percent

A. 8%. :
B. 9%. SM&

%. { = (S
i TE I

g8, Three partners shared the profit in a business in the ratio 5 : 7 : 8. They ]
. : 7 : 8. They had partn
_/;:]:mhind 7 months respectively. What was the ratio of their investm);nts? pociacze fr 14 monbs
wA. 5:7:8.
~49: 64.
C. 38:28:21. 70 56 ¢
’ / z

D. None of the above.

!
89. How many Surah does the Holy Quran contain? O s S
A. 124, | M
B. 109. ! _
~€7114. ®'@ D
D. 220. . 290

90. Alla Rakha was an exponent of which of the following instruments? @
A. Shehnai. Iy
wB. Tabla. X355
C. Sitar. TAVALA )
D. Santoor. £ 1 SD
91. Wings of Fire is an autobiography of Lq: 295
A. Indra Gandhi. Mo
_B. AP.J. Abdul Kalam. Ix |/,
C. Subhash Chandra Bose. -73 =28
D. Pranab Mukherjee. - - 8
92. Kanchenjunga is DI T L 11 TP PPPPPPPPPPPRPTPPES =/ g
A. HP. , :
B. Bangladesh. 4
C. Panchkula.
_D._Sikkim. (LoD
93. Who discovered North Pole? .
A. Captain James. ~ L, 00 . o
B. Magellan. W <S80
C. Amundsen. v — 3 GVO
_D~Robert Peary. ——
=Y 0D
94. The Red Fort was built by: Fm =1
A. Akbar. | m = YOO SZ_O &40
~B—Shahjahan. e & —
C. Jahangir. 'V 7
D. Sher Shah. ' ) :
LA A
ally, 47 $6 | :
7, . /,\éﬂ'k} —@q-zﬁ) 37¢
- — s '
R4 < . SETC <7 ez £ o7
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95. The first paragraph of a news story is called
A. Beat. y
v B. Lead. «
C. Anchor. . - 1
;P/Sﬁg. : 3 ;
96. The following has highest energy? !
A. Blue Light.
“"B. Violet Light.

C. Cyan Light.
D. Green Light.

97. Consider the following statement and arguments:
Statement: Should correspondence courses at the university level be discontinued in India?
Arguments: .
L. Yes. Only interaction between teachers and students at the college helps total development of
personality.
II. No. The demand for discontinuance comes only from the elite who have no knowledge of what is
meant by poverty. .
With reference to the statement and arguments mentioned above, which of the following is correct? |
A. Only argument I is strong.
B. Only argument II is strong.
C. EitherI or Il is strong.
—D= Neither I nor II is strong.

By - T

98. Consider the following statement and arguments:
Statement:  Should there be reservation of seats and posts on communal basis?
Arguments:
L. Yes. It will check most of the inter-communal biases.
II. No. Ours is a secular state.
With reference to the statement and arguments mentioned above, which of the following is correct?
A. Only argument I is strong.
~B—Only argument II is strong.
C. Either I or II is strong. )
D. Neither I nor Il is strong. =

99. Bye-law making power granted to the executive by the Legislature is called-
A Delegated legislation.

B. Colourable Legislation.
C. Administrative legislation.
D. None of the above.

’

100. On the basis of the following assertion and re
Assertion (A): During inflation, there is
Reason (R): The rise in prices is due to s

ason, mark the correct statements
ficrease in money supply and rise in price level.
hortage in supply of essential consumer goods.

D. A s false but R is true.
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101. Apply the speCiﬁe? lmlsshto St:a:i? ';tctase anttih an'swer the question.
Je A: An owner of land has the right to use the land in any manner i
{::d also owns the space above and the depths below it. ’ he or she desires. The owner of
Rule B: Rights above the land extend only to-the point they are essential to any use or enjoyment of
land. '
Rule C: An owner cannot claim infringement of her property right if the space above his or her land is
put to reasonable use by someone else at a height at which the owner would have to reasonable use of
it and it does not affect the reasonable enjoyment of his or her land.
Shazia's case: Shazia owns a single storeved house in Ahmedabad which has been in her Jamily for more
than 75 years. The foundation of the house cannot support another floor and Shazia has no intention of
demolishing her family home to construct a bigger building. Javed and Sarideep are business partners
and own three storey houses on either side of Shazia's house. Javed and Sandeep are also Ahmedabad’s
main disiribwiors fer & major soft drink company. They have erected a huge hoarding advertising their
products, with the ends supported on their roofs but the hoarding also passes over Shazia's house at 70
Jeet and casts a permanent shadow on her terrace. Shazia decides to hoist a huge Indian flag, going up to
75 feet, on her roof- She files a case, asking the court to order Javed and Sandeep to remove the hoarding
for all these reasons.
Applying the above Rules to Shazia’s case, you would decide in favour of
Shazia because she has the right to put her land to any use and the court cannot go into her
intentions for hoisting a flag at 75 feet.
Shazia because she has the absolute right to the space above her land.
Javed and Sandeep because Shazia can easily hoist a flag below 70 feet.
- Javed and Sandeep because hoisting a flag 75 feet above one's roof is not essential to the use and
enjoyment of the land.

xcow >

102. What is ‘deductive’ reasoning?
— A Reasoning from the particular to the general.
~z3==Reasoning from the general to the particular.
C. Reasoning according to the wishes of the court.
D. Reasoning according to guess work.

103. Directions to Solve .
In each of the following questions, two statements numbered I and II are given. There may be cause
and effect relationship between the two statements. These two statements may be the effect of the
same cause or independent causes. These statements may be independent causes without having any
relationship. Read both the statements and mark your answer.

Statements: s
1.The prices of petrol and diesel in the domestic market have remained unchanged for the past few

months. ,
I. The crude oil prices in the international market have gone up substantially in the last few months.

Answer: -
A. Statement I is the cause and statement Il is its effect.

B. Statement Il is the cause and statement I is its effect.
C. Both the statements I and 11 are independept causes.
\_D-)oth the statements I and II are effects of independent causes.

104. Odometer is to mileage as compass is to 9

A. Speed. N
B. Hiking. (Hv qg‘ Can <

C. Needle. W — : '

%Bﬁction.
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105. Name the ICBM which was successfully test-fired by India on December 26, 2016, from Dr. Abdy,
Kalam island off the coast of Odisha.
A—ATR V.
B. Agnilll.
C. Agnil
D. AgnilV.

106. Which State has recently launched India’s first Student Startup and Innovation Policy?
A. Delhi.

»=B—Gujrat.
C. Kerala.
D. Uttranchal Pradesh.

107. Who has been appointed as the new Chairman of UPSC with effect from January 4, 2017?
A. R. M. Bathew.

~B. David R. Syiemkieh.

C. D.P. Agrawal.

D. None of the above.

108. Which of the following is the 43™ Chief Justice of India

AJustice T. S. Thakur.

B. lustice Jagdish Singh Khehar.

C. Justice S. H. Kapadia.

D. Justice Rajendra Mal Lodha.

109. Which Indian City has been honoured with the Best Cities of 2016 Award at the C40 Mayors

Summit held in Mexico City from November 30 to December 2, 2016?
A. New Delhi.

B+ Kolkata.
C. Chennai.
D. Mumbai.

110. Name the guided rocket system that was successfully test-fired by India on January 12, 2017 off
Odisha coast

A. Dhruv II. :
B. Shival.

—€. Pinaka II.

D. Pinakal.

111. Which one of the following is in Princi
you, acknowledges, when he considers t
A. Everyone acknowledges . . .
B. Who knows you.
C. When he considers the case calmly.
D. That you have been wronged.

pal-Clause in the complex sentence: “Everyone who knows
he case calmly, that you have been wronged.”

112. Which of the following contain
~A~ Dawood has hurt himself,

B. Sinai itself trembled at the presence of God. U:— (’L\

C. We seldom see ourselves as others see us,
D. Both B and C.

s a reflexive pronoun,
A

B26
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¢ the word or phrase from the alternatives that i idiomati
113. €hO0% . Don't cry over spilled milk” best Gonveys the mening of the idiomati

ot regret what cannot be changed.

B. Focusing your hopes on one person is a waste. .
C. Plan for the futune._ . | .
D. Spilled milk is spoiled milk.

114. Select on€ of the following which is most correct according to the rules of English grammar, usage,
punctuation, and sentence structure.

cording to a common belief, Europe and Asia are regarded as being distinct continents, but they
are vast geographic divisions of the larger land mass known as Eurasia.

\’B./!Lls according to a DL belief, Europe and Asia are regarded as being distinct continents, but
they are vast geographic divisions of the larger land mass known as Eurasia.
C. That it is according to a common belief, Europe and Asia are regarded as being distinct continents,
but }hey are vast geographic divisions of the larger land mass known as Eurasia.
D. While according to a common belief, Europe and Asia are regarded as being distinct continents,
but they are vast geographic divisions of the larger land mass known as Eurasia.

115. Which of the following is not correct —
A. Have you bought any biscuits?
B. Would you like any biscuits?
C. Would you like some biscuits?

_D.Both Aand C.

116. Select one of the following which is most correct according to the rules of English grammar, usage,
punctuation, and sentence structure.
While the victim lay injured on the floor of the store, the police dispatcher counseled the
shopkeeper on how to perform first aid. '
the victim laid injured on the floor of the store, the police dispatcher concealed the
shopkeeper on how to perform first aid.
(_C. While the victim lay injured on the floor of the store, the police dispatcher counciled the
shopkeeper on how to perform first aid. - ’ . 2 40
D. While the victim laid injured on the floor of the store, the police dispatcher cancelled the
shopkeeper on how to perform first aid.

117. Select the word that most closely has the opposite meaning of the word “Extol”[)mi!e
A. Applaud.
B. Communicate.
C. Glorify.
/D. Criticize.

Direction: [Questions 118-122]. Read the passage carefully and answer the questions that follow. For
each question from 118 to 122, four options are given. One of them is the correct answer. Choose the
correct answer. ;
Jessie had decided to WdEWdMMLM 28 EIOnK ks WSYS) o
minute ride away. She cycled along the dark and quiet path and she suddenly felt nervous. As
she pame’ lamp' shg began fowmm be_en SO brm'e. and had
acceptéd ride home from Maria's father. Her heart was thumping loudly and she was panting
as SWM'WI‘SM went round a_bend. She did not hear a car

appracﬁing until she came Jace fo jace with the blinding headlights. Jessie squealed in shock
h had been Trav

and skidded 1o a siop. The approaching vehicle, whic n travelling at a snail's pace
all am—srop mp front of her. Jessie shielded her eyes from the glare and she
\\‘_’__‘_/‘____—
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instinctively moved to the side of
windows were tinted almost black
Jear. A dark shadow moved inside the car. The
-. began to slide silently down. Jessie w

the road. She turned and eyed the black car warily. The
and she could not see clearly what was inside. She froze in
window on the passenger's side of the car
'as holding her breath until she found herself staring at

— a little grey-haired old lady! "Hello, my dear," said the old lady, flashing a toothless smile.
“I'm lost! Can you help me?" The relief was so great, Jessie almost burst into giggles.

118. Jessie felt fear as she was cycling home mostly because of
~Ax=her weak heart.

B. the street lamp.
C. the toothless old lady.

\J2=tiTE darkness along the street.

119. Jessie regretted.
A. cycling too slowly.
B. not being brave enough.
ming down the offer for a ride home.
D. letting her imagination run wild with scary thoughts.

120. The "glare" in the above passage refers to
A. the street lamp.

B. the windows of the car.
~=E—e headlights of the car
D. the old lady's toothless grin.

121. Jessie could not see clearly who was in the car because
A. the car was black.
windows were tinted.
C. the car was too far away.

D. the person was too small.
»

122. The car was travelling at a snail's pace all along because the old lady
A. had frozen in fear.

B. needed Jessie's help.
C. was holding her breath.

s —wasTost and was finding her way.

123. Which one of the following is in positive degree?
A. No other town in Malaysia is so old as Malacca.
B. lacca is older than any other town in Malaysia.
.A/’)‘Kjl:lacca is the oldest town in Malaysia.
D. None of the above.

124. Which of the following is a right choice —
~—A—He gave me an advice.
B. He gave me some advice.

C. The sceneries here are very good.
D. BothAand C.
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125 Who has been nominated for the " Yash Chopra Memorial Awards?
A, Akshay Numar

R Salman KNhan
¢ Amir Khan
D,.~hah Rukh Khan

-~

126. Name the eminent poet who has been felicitated with the §2™ Janpith Award for 2016
A Rehman Rahi

B. Kedarnath Singh
_AShankha Ghosh,
D. Raghuveer Chowdhary.,

127. Which of the following films made a record box-office next to PK
A. Dangal
B. Sultan.
C—Bafiubali.
D. Three ldiots.

128. “Fake news is Killing people’s mind™ was so said on 11" Feb. 2017 by
A. Hashim Premjee. ?
B. Tim Cooky”
C. Narendra Modi.
D. Rahul Gandhi.

12 Who has been named as the new brand ambassador of Smartphone brand Gionee?
A. M. S. Dhoni.
B. Rahul Dravid.
~€- Virat Kohli.
D. Zaheer Khan.

130. Donald John Trump has been sworn in as the __ President of United State of América.
A. 44, as
B. 40.
C. 43
D. Nongof the above.

131. Which word does NOT belong with the others?
A. Inch.
B—Ounce.
C. Centimeter.
D. Yard.

132. Find the statement that must be true according to the given information.
Vincent has a paper route.  =¢
neighbourhood. It takes Vincent 50

G

\/\?/ )
T A Sy

7(,,4 Q
/9/‘5

(o= C

I\)\ )
2

Each morning, he delivers 37 newspapers to customers in his
minutes to deliver all the papers. If Vincent is sick or has other

“ho lives on the same street, will sometimes deliver the papers for him.
. 0 b/

lans. his friend Thomas, ¥ . . '
—ncent and Thomas live in the same neighbour h::’ed A~ :
XB\ It takes Thomas more than 50 minutes to dshl"le;ries Papers.

X C. Itis dark outside when Vincent begins his deliveries.

\)’:H"“mas would like to have his own paper route.
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I\wmnﬁean if a judge displays personal bias?
- An individ

A ual judge (-iecides certain types of cases according to his or her personal prejudices.
. udges-as_. a boc_iy decide certain types of cases according to systematic bias.
C. Anindividual Judge only decides certain types of cases. ‘.

D. Judgesasa body only decide certain kinds of cases. 1

134. Based on the following assertion and reason, mark one of the answers.

Assertion (A): The state shall not make any law, which takes away or abridges the rights conferred
by Part I1I (Fundamental Rights) and any law made in contravention of this clause shall, to the extent
of the contravention, Be yoid. . o
Reason (R): The fundametal rights are the rights reserved for the people and for this reason they are
| eternal and sacrosanct. ‘ v -
Answers: e

~“A—Both A and R are individually true and R is the correct explanation of A.

* B. Both A and R are individually true but R is not the correct explanation of A.
C. Aistrue but R is false. '

D. A is false but R is true.

-

135. On the basis of the following assertion and reason, mark the correct statements
Assertion (A): The Indian Constitution was adopted on 26th November, 1949.
Reason (R): Law Day is celebrated in Tndia on 26th November every year.

—A-B0th A and R are individually true and R is the correct explanation of A.

B. Both A and R are individually true but R is not the correct explanation of A.
C. Aistrue but R is false.

D. A is false but R is true.

136. Corroborative evidence means
A. Main evidence in a case.
B—Evrdence which support other evidence.

C. Evidence that proves‘the guilt of an accused. _ Z
D. Evidence of a person who supports the accused. 7 ),

137. Consider the following statement and arguments:
Y Statement: Should the railways immediately stop issuing free passes to all its employees?
Arguments: : ;
: X I. No. The employees have the’right to travel free.
' II. Yes. This will help railways to providé better facility.
AN With reference’to the statement and arguments mentioned above, which of the foll
: A. Only argument I is strong.
; B. Only argument II is strong.
C. EitherI or Il is strong. .

\_D~Neither I nor Il is strong. L

) 138. Consider the following statement and arguments:

Statement: Should there be a complete ban on strike by government employees in India?
Arguments: 5 _
1. Yes. This is the only way to teach discipline to the employees. A<
I1. No. Thi$ deprives the citizens of their democratic rights:
With reference to the statement and arguments mentioned above, which of the foll
A. Only argument I is strong,.
—B~—Only argument II is strong.
C. Either I or II is strong. 3
D. Both I nor II are strong. § ‘7

owing is correct?

owing is correct?
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39. A tide in which the high water is —
I 2 Spring tide. g lower and low water is higher than normal is:
. Neap tide.

C. Moon tide. .. ,

D. None of the above. -

140. The founder of the much publicized ‘Wiki ) s
K. Julian Assange. RS b i e i
B. Thomas Jacobson.
C. Jimmy Wales.
D. Marshal Mcluhan.

141. Whe : . :
Y Ll:; ty}i?]‘il,tama Buddha attained Nirvana (enlightenment)? qub.. Kushin s
~B. Sarnath.
C. Kusinagar.
«D. Bodh Gaya.

142. Vasco da Gama reached in India in the year?
A. 1495.

B. 1496,

C. 1497.
D. 1498. 90 Ho.:tj 1B 48

143, e are tribes of Andaman and Nicobar Islands.
A. Munda.
B. Kurra.

~C. Onges.
D. None of Above.

144. Which is the first open university in India?

/A. Andhra Pradesh Open University.
B. Yashwantrao Chavan Maharashtra Open University.

C. Indira Gandhi National Open University.
+D. Nalanda Open University.

145. Which from the following is a "Classical" dance form?

A. Bhangra.

_B. Bharatanatyam.
C. Chhau.

D. Wangala.

146. Prophet Mohammad (PBUH) belonged to

~A. Hashmi.
B. Quraishi.
C. Makki.
D. Madni.
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‘47-IW:)012)umbcrs are in the ratio 3:4. If their LCM is 240, the smaller of two number is
B. 80.
.—'€. 60.
D. S0.

148. A box has 210 coins of denominati -
, ations of one- . . .
values is 13:11. The number of o tupee and fifty paise only. The ratio of their respective

ne-ru ini
A. 65 pee coin is
B. 66.
C. 77.

P18,

149. For the question: ‘have you decided what to do?’ which one is a correct answer—
A. *Yes. I will resign the job’

B. ‘I am going to resign the job’.
C. Both A and B.

D. None of the above.

150. If a man were to sell his chair for Rs. 720, he would lose 25%. T o
“A—Rs. 1,200. o. To gain 25% he should sell it for:
B. Rs. 1,000.

C. Rs. 960.
D. Rs. 900.
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